a % @ ﬁ 6 Phép chia Da thirc

Tén: Ngay thang: Piém:
4253 + 1722 — 46x — 24 16x° + 5002 — 61x+ 15
Tx+ 4 & —3
2123 + 32 — 6x 273 + 8122 + 96x + 36
3x O+ 6

243 — 2752 + 24x 16x° — 1622 — 56x
3x &x
2122 + 60x + 36 18x° — 482 + 12x
3x+6 6x
63x° — 332 +27x+ 15 16x° + 66:2 —3x— 9
Ox+3 & —3
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RoisEL

Phép chia Da thtic

Tén:

X3+ 172 — 46x— 24
Tx+ 4
6> —x—6

215 + 3% — 6x
3x
7x2 +x—2

24x° — 275 + 24x

3x
8x> — 9x + 8

2122 + 60x + 36
3x+6
Tx+ 6

633 — 332 +27x+ 15
Ox+3
7 — 6x+ 5

Ngay thang: Diém:

16x° + 5002 — 61x+ 15
& —3
2%+ 7x—5

27x3 + 81x% + 96x + 36
O+ 6
3+ 7x+6

16x° — 16 — 56x

8x
20— 2x—7

18x° — 482 + 12x

6x
3% — 8x +2

16x° + 66:2 —3x— 9
& —3
2% + 9x + 3

www.snowmath.com



https://www.snowmath.com

